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group8:#=2 > 7%



1.5

1.0

0.5

. +
!.!IlII-I!-|_I|I_|IIHIIIJIIEI!'I"!'.I Illilil.lll

1.5

1.0

0.5

# samples : 34

groupl:#=2 —> 18%
group 3:#=5 —> 100 %

group?:#:z -> 8%
group 8: #=22 —> 81 %

# samples : 15

goup1:#=1 -> 9%

group3:#=1->20%

I I I I I I “ I | | | group 4:#=2 —> 9%
|i|||l| Ml o I 1.l ol ol Latlilaliine I ” II-I LML Ii-lll__ Ih h.h group5 . #=2 —> 8%
I L IIII = mm IIIIII " 11 I 1 I I l|l| III [ ] group7:#:7 > 27 %
group 8 :#=2 > 7%

1.5

1.0

_05 -

15

1.0

# samples : 0
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